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AVE1—2 R DEAS R

George and Marie sold their primary residence this year for $300,000. They purchased the home 20 years ago for
$100.000 and lived in the home until the sale. George was a salesman and used 1/6th of the home as a business office.
He deducted 1/6th of all costs. including depreciation, since the purchase. The oniginal cost of $100.000 was assessed
at 540,000 land and 560,000 building. In taking depreciation for the office, George used the straight-line method with a
30-year life. What is George and Marie's depreciation on the business portion?

A §200,000
B. $16,667
C. $6.667

D. Mone
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Previous: §IDMEREIZRE S,
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STUDY UNIT 1

FILING REQUIREMENT
HEHRH

GLEIMTXRAFHEREE E30RS VAR

A13[5 (43.3%) B13R5 (43.3%) C4R5 (13.4%)

1-1 Preliminary Work to Preparer Tax Returns
(REEERDO-DDER)

1-2 Filing Status
(REEM)

1-3 Filing Requirements
(REET)

1-4 Personal and Dependency Exemptions
(NHOFERR - BREIERR)

1-5 Returns of Dependents
(KREREDOHE)

1-6 Nonresident and Dual-Status Aliens

GEREFSNEAN-ZEERERTHHEN)




m 1-1. Preliminary Work to Prepare Tax Returns |

Which taxpayer information is necessary to have before preparing a tax
return?

A. Immigration status.

B. Age of an individual.

C. Marital status.

D. All of the information is needed.

<AE> EARERTIL. B D IS TIFES
TREEEREIELTOISNOREERDELNH D,

<EBEEBE> OAXI I

m Answer(D) is correct.

HErE YD : s OEXER
m BEEER D=0 DE M (preliminary work)

HEEEREBEITOLOIC. MBRELOTREEAF TS,

O #HHEBEOREEDOREE

Q@ HEDEXRFR

-4 4 AR (date of birth) & £ (age)

BBIERR (marital status)

&Rk (dependents) DFE

¥ 2 REHES(SSN)

BAAMBEHNES(TIN) —SSNREBEERHIEVHNEADZE
EFFHIBEOMBE R ES(ATIN)

-[E$E (citizenship)

KEMTER R (immigration status)

@ EHHLICHRELEE XABEHIRMNIBHLEREE T4—LEF-3:—),
51 Form W-2 (A ERFT B DR REINE) . 1099-INT/DIV (R F/ER LU ZEDTIAE)

<RAUMEE>
EIRER(A) (B) (C) : I RTHBENOAF I RNEFEHTH D, . #REL (D) AIERE,




Point ! 1-2. Filing Status

Filing Status (A& &%) =58 ENRET L1
REERI. BEHEER(BERBRFEERRANIFEE12/31) DB A TEMICHEIIBLTLANES
MT. 2DITKBIEN B CKEL, EBEFORCEE -ALLBEDREFHY) .
HEERICIEC T, BRSNS ER OIZEEFERREE (standard deduction) EMNEL S,
B (1) Married Filing Jointly: MFJ / Joint Return (kig & & H &)

RREERICHIBLTOAXRENAFMBEEELTHRET L,

(Married at Y/E, NOT divorcedBig, legally separatedikia7IfE)
FAICLAENGEWNMEE S LU —RMICIEMFIZEIRLZIZSNERELD,
X BIBEORTEEE, MFJTE,
(GE):MFJZASIBE. W& Hsame taxable year GRFIEE) THITNIELRSE L,
{BL . same accounting method ((R& &, REFTR)TRALDIBLEIFLLY,

(2) Married Filing Separately : MFS / Separate Return (K i@ {8 Bl 68 &)
RREERICHEIBLTOAXREN TN T NERICRET 5.
AADEBEIZLMIFRELNLLMEE TH, MFSH,
(GE):MFSERL\5154 . W& hsame way (itemized or standard ded.) TAi T IEA 54U
(E):A2a=TFA-TANRTAMBEDEES | RIFEEMB%E50: 5012 BILERI B &EZE1TS,
HEE (3) Qualifying Widow(er) / Surviving Spouse GE#&EE (X))
<BEEEREK) OELELH>
@ REBEELEINL. FREEROBATHETHII L,
RBEORECEENEEFLZORDEN2ERICRY. BLBIENTES,
Q LEBFEEOMEM]. KERETHAIFHICKBF-BEF-BREET HL.E
FERG) ERBLTHEY., REHEFEDS0%BEEEBLTNGIE,

| Point | 1-2. Filing Status

. (4) Head of Household: HOH (4 EHE= )
AT | <nEewrornEe>

(BE) | D) maaemromsATRE CEH: ALURESLEE) THY. Qualifying Widow
(e B LAY,

Q@ LERMEEO[EEIBOHREICHI-Y ., KERETHIMEE (BHELNOH
B KB TR, ) ERRLTAY R RS XBENDH) D50%BEEIBLT
WAL, L. BERETHIBLEAELTNABERAN,

5 © HRER & (dependent) X FERFE
Bl EANR—L
T © HER K (dependent) O M+ E]EBRRE
[3%:%]
ZTOMD | © kERKK (dependent) QM+ EIERRE
F3R&1

[%X) £IEDFHDIES ., BEFH (“qualifying child”-CARES) DE#£#7/-L TL
N, HFEEDFEES K (dependent) THTEEPLL ),

Y- BLEFTIZAEIEL /- RN 2 sE DIEIEFHEEFEL T B, BRI BB B F 1
LTOB=0FDFEDEEIEGELEEFIEFMEL . TH (X)L, Single (EZZF)”
FML, FDFEEFHERE ependent) &L THEZIZSEHFEFZEBREFE 0/, CDKRT
ThHlE, BEEIFEEFHED Head of Household "#Z#7 &/,

(5) Single(A &%)
FERICHEFITEMIIBIRECHIE T MOEDBHEERICHLZYLELE,




| SU1-Q4 | 1-2. Filing Status (Ass |

John and Linda Smith are a childless married couple who lived apart for all of
the current year. On December 31 of the current year, they were legally
separated under a decree of separate maintenance. Based on the facts,

which of the following is the only filing-status choice available to them for the
current year?

A. Married filing joint return.

B. Married filing separate return.
C. Head of household.

D. Single.

m Answer(D) is correct.

HEREY): BEERORER
<KLV MRER>
BB (1) Married Filing Jointly : MFJ / Joint Return (ki@ & E &)
(2) Married Filing Separately: MFS / Separate Return (3 i {E Bl 5 £ )
e (8) Qualifying Widow(er) / Surviving Spouse (E§ &% (X))
(4) Head of Household: HOH (4% E %)
(5) Single (B &%)

JohnKé&LindaK Ik, 12/310 8 5 TiERIAIE (legally separated) DIREIZHY .
KIBDAT—HRERANDIEILTERLY,

BRERETHAIFH (EE) HSLELH. £B“Single (BHEHE)"ELTHREZETS,
CORIREE (D) WNIEfREA S,

ZEREE (A) (B) :

12131 TEMICEEIBEL TV A RIETHNIE . MFIEZIEMFSO LT A EER T,
—RERIICIE. MFJEERLIZIZSD B FI LD,

ERFR(C) -

HKBRIETH T (EiE) MUV =8, Head of HouseholdIZIZ 5L L%ALY,




| Online | 1-2. Filing Status (Ass |

Lisa was married with two dependent children in 20X1. Her husband died in
April, and she did not remarry before the end of 20X1. Which filing status
should Lisa use for her tax return in 20X1?

A. Single.

B. Married Filing Jointly.

C. Head of Household.

D. Qualifying Widow(er) with Dependent Child.

m Answer(B) is correct.

HENEYY: RBEOETERE

<RAUMEH>

RAREOFETEEL, BHIELT, ETLERBELOMFIZANSENTES,
ORI (B) A ERELE D,

IS z6zixms #1208 (E205E) L -BEEDEE
X1 X2 | X3% X44E
53 ~— ~— —|  HOH
MFJ —> Qualifying widow(er) —> OR
24 Single
A EENE HOH
GERIAIRE) OR >
Single

HOH: #7ZLMH & D FHlHY
=ZTOEREBEFLFEOEF 6 ARMANELTVDIGE . MEELTHET,




| sU1-Q3 | 1-2. Filing Status (B, |

Which of the following is not a requirement that must be met in determining
whether a taxpayer is considered unmarried for head of household filing-
status purposes?

A. An individual must file a separate return.

B. An individual must pay more than one-half the cost of keeping up a
home for the tax year.

C. Anindividual's home must be, for the entire year, the main home of
his/her child, stepchild, or adopted child whom (s)he or the
noncustodial parent can properly claim as a dependent.

D. Anindividual’s spouse must not have lived in their home for the last 6
months of the tax year.

m Answer(C) is correct.

HBEFEYY BEHFE (ALELHME)
<RAUMBEE > LT &Y., ZIRE(C) NIERRELR S,

Head of Household | D EZHiEERDEATHE RA&LLMELED) THY.

BEHTEDEH Qualifying Widow (er)IZiz &L,

@ YUEBREEDO[EEIBOHBHHI=-Y ., LBRETHD
[HRECRELUNOERE) ERBLTEYR#ES
(XBIEDH) D50%BFRBLTNEIE,

Point! | AR

AIELUIRBHRELIE. FERAVDIMTRED ., RREEROE A TERMICITHEELTL
LREBIZHHIZED DN DHETMFSERIRE T HEBLEVRIRIZHY (BRIBEMNSMFJ
D=HDBEZELLZLEWVVKRICHY) . TOEBELEEOHRF 6, AMAIFBLTL
BBE MBLLTHET EVORETHS, BREFEICRBELIBRIOBF (R
FIREEZBEL-LOT, ZOMOEHZET-L TL N IEHead of Household%
AWSILEERHTLS,

<BES>MFJZRAVSGEEICIE. BEEL XIF2ADELHILETHD,
BHEMFIERWEE . RMHRBEFICHLXENEFEEEAS(EL. BEEEE
(innocent spouse) MEIZLY . EHEENOHEFEINEIELHD),




| SU1-Q5 | 1-2. Filing Status (Ass |

Which of the following is not a requirement you must meet to claim head of
household filing status?

A. Your spouse did not live in your home during the last 6 months of the
tax year.

B. You paid more than half of the cost of keeping up your home for the
entire year.

C. Your home was the main home of your foster child for the entire year.

D. You are unmarried or considered unmarried on the last day of the
year.

m Answer(C) is correct.

HENEYY FEHEE (RABOEH)

<IRA VMR D> HIREOBHOLLBANRA RS, XVT s — BRI B A,
Qualifying Widow | #%i#& (&, ZERFEED 1R (Whole year) [, HKEKK
AR () THAHIFHICKBF-BEF REESDBL. BFERG) &
BRRELTHY. Rit#iFED50%BEABL TSI,

| 78] | © #ERME (dependent) ERECIEEEE

Head of Household | #t#i# (&, &R EEOIEE (Half year) JBOHRMIZHT=
HEHTE Y, BRERETHAMEE GEELUHNOHEK) ICXEFHE
T ERIBLTEY. RETHHFEDS0%BEEIBLTIVAIE,
BL. BBRETHIBELEIRBODBETL,

) © KERE (dependent) X BETE
Bll: BAR—L
Fit © HE R (dependent) O M+EI#ERARE
[%3x)] Lp.osR
ZTOfD | © HERIK (dependent) © M+ EIBRE
Bkl

.".Head of HouseholdIZ#& UL Tld. 14/ (entire year / whole year) TIE4iL =8,
BIREE (C) B EEfRLELR D,




| Online | 1-2. Filing Status (B, |

Phil is unmarried in 2016. His dependent daughter, Susan, lived with him all
year. Property taxes of $2,500 and mortgage interest of $5,000 on the home
where he and Susan live are divided equally with his ex-wife. Phil paid the
utilities of $200 per month. What amount may Phil use as the costs of
keeping up a home to qualify for head of household filing status?

A. $6,150
B. $4,950
C. $3,750
D. $9,900

11
m Answer(A) is correct.
HENE Y  FEitEE (REHERE D50%#E)
<RAUMBRE>
[RAMBEICEENEED | BENBLHD
B-EOH K- 2Dt

B2 & R REE
GEEREO— OBATE  |%BE
BN EBE
KB R R IR
BEEDBEREE TEE
EEDRIEE I
BE BB B RIRIC

LBBEIRBOIEIE
BEOBEEEERLMEAFAIL. TELESTOEIE,
.".Head of Household QD E#-%i#H=LTLN\EMES M
4195 £ TPhilE AL REHERE L. —
($2,50052 & 2 B: -+$5,0001 AFIB) X 50% | (gl | | ZE
+$200 X 124 F /K& #3088 = $6,150 =
SEIREE (A) ANERREN B,




1-3. Filing Requirements

Mr. Todd, who is 43 years old, had lived apart from his wife since May 2016.
For 2016, his two children, whom he can claim as dependents, lived with him
the entire year, and he paid the entire cost of maintaining the household.
Assuming that Mr. Todd cannot qualify to file a joint return for 2016, he must,
nevertheless, file a return if his gross income is at least

A. $4,050
B. $9,300
C. $10,350
D

. $13,350

Answer(D) is correct.

HERE V) BERE

HEERY

ZER

<EAIL—IL>

[RANELT. MFREBDGIZ
Basic standard deduction+
Personal exemptionDi54& .

st : MFS%:&IR 3 515 & 1Z(E. Personal exemption @
HCTHERBOAREHIET S,
- Additional standard deduction|. I655% LIt D&

FE IR ELZBEMIZBFREEDAHEH D KMFSERRQ ,
-Dependency exemption ((kZEERREE) (LS HLMNELY,

RERBIELD, XEEEEDBEICIE, ERORAEZIIC, QLS
SO (FIFIIE) NS00 LHSIGEHEEHENELD
X HESFHE (dependent) DIBEH., ERDOREI&FFIIZ,
TEMBERELL-BERBORENH S,
i 2016 Standard Personal Total Additional
Filing Status Deduction | Exemption | E&E&HE SD
Married Filing Jointly $12,600| (2.A)$8,100 $20,700 $1,250
Qualifying Widow(er) $12,600 $4,050 $16,650 $1,250
Head of Household $9,300 $4,050 $13,350 $1,550
Single $6,300 $4,050 $10,350 $1,550
Married Filing Separately | $6,300 $4,050 | 5151$4,050 $1,250

Head of Household®

<HRAUMMREE> Mr. Toddl%. Head of HouseholdDE &% 1-4,
=315, $9,300+%$4,050=Total $13,350 ERfE (D)




BN 13- Filing Requirements [0

In which of the following situations is no return required to be filed for 2016?

A. Single, filing status single, under age 65, gross income $15,000.

B. Married, joint filing status, both spouses under age 65, gross income
$25,000.

C. Single, filing status single, age 70, gross income $11,200.

D. Marred, separate filing status, age 65, gross income $10,000.

m Answer(C) is correct.

HB YY) BEEH

<B4 MREE>

L (A) :SingleD &5 (2016) &
$6,300+$4,050=%$10,350,

<Gl $15,000

B (B) :MFJD B & ET5(2016) [
$12,600+$8,100(2 A %) =$20,700,
<Gl $25,000

FERPE (C) : Single TE5RE UL D HHZEF(2016) 1%
$6,300+$4,050+$1,550=$11,900,

>Gl $11,200

SRR (C)MNIEREERS,

EIREX (D) :MFS?D B &% 75 (2016) (%
#12$4,050,
<Gl $10,000




IEEICN 13 Filing Requirements [

Which of the following statements is true regarding the filing of a Form 4868,
Application for Automatic Extension of Time to File U.S. individual income Tax
Return, for your 2016 tax return?

A. Interestis not assessed on any income tax due if a Form 4868 is filed.

B. Form 4868 provides the taxpayer with an automatic additional
8-month extension to file.

C. Even though you file Form 4868, you will owe interest and may be
charged a late payment penalty on the amount you owe if you do not
pay the tax due by the regular due date.

D. AU.S. citizen who is out of the country on April 15 will be allowed an
additional 12 months to file as long as “Out of the Country” is written
across the top of Form 4868.

m Answer(C) is correct.

HEBrEYY BERRBEER

Po BEEREENDES 415 XTHHHOBEEIEREXR
HIMFRENEREEDERPICETELI-EEEL. REAXTORBEHE
Due Date | LTHEZHLAHNIZRELDLELLY  EAARSHROBEHRE L
BI4EHARR | ERFRTH D,
¥Form1040NR%* 12 H 3 5 IEE4E S E A (nonresident alien) 0 B £ 47
BRI, BEEREERANDES. 6/15L755 (HL. A5 E AR R U
DRREFH>TNWBIEREFNEANDBEELR IR DA/15FETELS) .
Form 486812 T 5FE =XV Oy I—F TR ELMTiEFTETE DL
Extension |I=&Y. BEEDRMAIELZ6H A EET (BEDES 10/15%T).

TR [XROMMHRBEERSILGL,

S  4/15DEE R TRENCBYLEE N DB EQARMMA KE SN ZH
AFRETRERUVBEEIL. 20 BHERLES (6/15FET)
<RAU MRS > B/ (A) : BiDMTEARIFIER SN =8, 415D B 15 THRIN
BENHIHZEICIL, RinFrEE(I LINEF T IZBE 9 551 8I€ (Failure-to-Pay
Penalty) I8 KUTEFEF B IR ELND, .. RY,
EIREE (B) : 85 AT, 65 ATHS, ..38Y,
FBIREE(C) : BB &Y, ELLY,
FIREE (D) : SO KSHRE T, 3],




1-4. Exemptions
Personal Exemption ( ARI{ZER) =#ifhE R A LEEE DZER

1 AN &Y —1£3%4,050(2016) . X #HFE L. RAIMFJOIHEI(Z. BIBHE DexemptionZ 2R 4
{BL. MFSTH. ZDEBEICGINEMD MR E DHKBERETHEL\ DO THNIFERT,
Dependency Exemption (FcEi2%) = B Rk D KR

Qualifying Child (&)
CAR(E)S+NC

Qualifying Relative GE& )
SINCRO

(DClose Relationship Test [B{RDE#]
MBEOFE BT, BF. BF. Wik,
MBIk, REED)THBIL,

@Age Limit Test [FF#DEH]
EHREEROBATIORRE. TF24m%K
BDIINAALDZETHI L,
®Residency Requirement [RIEDE#]
FEBOHME. MRELRIBELTWSIE,
KRR R - ABRE E (& B “— RO A1 B HAR
[2DOWTIERIBLTLM=EL TS,
@Eliminate Gl Test =ris#lRF= .
®Support Test [EEDE#]
ZTOFENEEDEFTEDS0%ELXEIELT
L\?&L\d_— XBiE B S HBHLTLSHBERAL,

@Not Joint Return [*ymAgﬂaﬂ'—a)gﬁl
@cCitizenship Test [EIEDE

(DSupport Test [EEDE#]
MIBEENERERELLLDEDEFTED50%HE
ZRBLTWDI L, XELEZE/IC/L, KR,
EEE HEE KEESHSFIS,
®@Gross Income Test [#FFEDE#])
HREREELSHEDGIN$4,050(2016) KT
DAL, XEEBABIECOHEIZETEENLL
®Not Joint Return [RIFAEREDEH]
HRERKELGDIENFORBEEMFILTIVG
W&, XBL, £EEMBHDBEIZITEHEIL,
@cCitizenship Test [EfFEDE{H
KBRELGDENKETRE S KE, 4+

H AFADEREETHDHIE,
Relationship Test D

KERRELTDEMNIBRFURN DRI OXIEH,
THREEE) THD.
OR 1FRERELTLG I,

1-4. Exemptions

| WBLE DT |

| Zhust

)

Qualifying Child
(GEME T

CAR(E)S+NC

\ 4

Qualifying Relative
GEMEERR)

SINCRO

| RRBAE L, BICEBERICRT HRABAEY, OK!




m 1-4. Exemptions |

In meeting the “gross income” test for claiming his father as a dependent,
Doug considered the income received by his father. This income included
gross rents of $4,000 (expenses were $2,000), municipal bond interest of
$1,200, dividends of $1,400, and Social Security of $4,000. What is Doug’s
father’s gross income for dependency test purposes?

A. $3,400
B. $5,400
C. $9,400
D. $8,600

m Answer(B) is correct.

HEERE Y B : SINCRO (BFIBOEH)

<RAMMEER>

“Qualifying Relative” [ZH 1T 5 #FTIR D EH . IRERIK L SHE DGIH$4,050

(2016) K\ THAHZ &L,

XIERBANE (B RO AEF R - RRERM) FCOHEICEEETIEL,

XABEEEFRRICOVTE. BEZELIIKHNEBRAZCDOFHEIZED S,
E§$§'®$$Fﬁﬁltﬁb\f%~ BE GLREXROZELIIKHIOERRAZE
COFEIZEDS,

REDGI=$4,000 gross rent: EEFYNA +$1,4008 24 =$5,400
COEREE (B)AIEfRELD,




m 1-4. Exemptions |

Luis and Rosa, citizens of Costa Rica, moved in 2014 to the United States,
where they both lived and worked. In 2016, they provided the total support
for their four young children (all under the age of 10). Two children lived with
Luis and Rosa in the U.S., one child lived with his aunt in Mexico, and

one child lived with her grandmother in Costa Rica. None of the children
earned any income. All of the children were citizens of Costa Rica. The child
in Mexico was a resident of Mexico, and the child in Costa Rica was a
resident of Costa Rica. How many total exemptions (personal exemptions
plus exemptions for dependents) may Luis and Rosa claim on their 2016 joint
income tax return?

2

ooOwp

4
5
6

m Answer(C) is correct.

HEBrEYY  BREER: SINCROBEIUCARES+NC (EENEH)
<MRA M ERER >

“Qualifying Relative” [ZH 1T AEEDEH (L. REBRKLLGLIENKETRFE
RE-HFH AR AOBEETHDIL,

ANDFHDIL, KE - AFLAREFEDIADFHRIICODERZET
CMBREARAN+ERBEE+ FHIA=G'EA, BRE (C)AERELD,

| RS HERE |
| ®kE-2FvaEfE || ozsunBaE |
R\ B sIE | A8
F|F F




m 1-4. Exemptions |

Mrs. Brown had taxable income of $600, Social Security benefits of $1,800,
and tax-exempt interest of $200. She used all of these amounts for her own
support. Her son paid the rest of her support. Which of the following
amounts of support paid by her son would meet the support test to allow him
to claim Mrs. Brown as dependent?

A. $900

B. $1,800

C. $2,100

D. $2,700

m Answer(D) is correct.

HREERE Y BB SINCRO(BREDEH)

<A MEER>

“Qualifying Relative”[ZE T2 BOEH X, R ENEKBRIELLZIEDEFTED
50%BEEMLTINSIL,

HICTULWDEFEICT. KHE - BE-ERE-ERE-ZEE-TEEFNEEFND,

SEFEIBHROEFTEDSONE. DEVEBHRBSEAREL TN H4EFEES2,600(=
$600+$1,800+$200) £ Z 5 &L EBL TLVSRLENH D,
COERER (D) NIERRETE D

(¥ 12) #2858 & # (phase out of exemptions)

< BEFEFEOEN> 2016FEEICBWLTAGINARNDEEEZ  [Filing Status | AGI Threshold
HBADLEEMEE X, NIERE JTREERR (personal and MFJ $311,300
dependency exemptions) DEEREEHY, B iBER5$2,500 (MFS aw $311.300
DIFE$1,250) I2DE2% T DFEESN S, o $285’350
XirEH., AROAGIDOEEEL, 15 B B2k (itemized deductions) ’
(BT 2B ERREDHHIERALTH D, Single | $259,400
MFS $155,650




m 1-5. Returns of Dependents |

Marcy, age 12, earned $400 from babysitting during 2016. Her parents claim
her as a dependent. She also had interest and dividends of $2,600 during
the year. She did not itemize deductions. What is her net unearned income
for 20167

A. $3,000
B. $2,600
C. $1,550
D. $500

m Answer(D) is correct.

HBENEYY ROFERETHSFHDOTFHAHE (“Kiddie Tax”)
<RAUMEER>
DI8mABDKREDFHRFE-ZQ24BMEKBED T LDEETETDF RS
NEFDEFED50%ZEBR TLEWFHICHF IR (net unearned income)
MKH2i5E. FROBEELHTIFTHBOBICEZTOFHOBOEEHRELE
ASh3ILIThd, CNIFHRERKREZFIAL-EIRICLLERERFTHLE
BRICLIZIRETH D, HH. FHROBFMFICEZOFEBSORENERAIND,

m AT 5 Fr#= (net unearned income :NUI) /% ?
FHROFFHBHSEAS2,100(=$1,050+$1,050) ZEL 3LV -EEELS,
S FHOTFHFTES2,600—$2,100=NUI$500 EIREE (D) NEMRELD,
FHOFFHEIHT 55
2016
0—%$1,050 RERHKLGL —HOREELTHERKREG>TWSERE

1,051—$2,100 A A DES RS DR FHDFFHFFEH SUGIARAIST,050
o A e e e | Ll L, FRE B R AR EE .

Ft=, FROTFHAEAEAE LUF FRTFNH#T$1,050#8$10,500LA F TH(E
FHESVBELLGNT, FROMAFHEERDOFFICERET HILEEERT,




m 1-6. Nonresident and Dual-Status Aliens |

Jean Blanc, a citizen and resident of Canada, is a professional hockey player
with a U.S. hockey club. Under Jean’s contract, he received $68,500 for 165
days of play during the current year. Of the 165 days, 132 days were spent
performing services in the United States and 33 playing hockey in Canada.
What is the amount to be included in Jean’s gross income on his Form
1040NR?
A. $0
B. $34,250
C. $54,800
D. $68,500
i DiEE e IRz M (REAI)
FERUVESY XIEOREME
A& F R BHEDREH
EEFE
-BAL-ERORE FEEOBENTONIIEFT
-HEL-FERORSE EEMERTMTIRD T 5,
FHEOEERNG-EEMG R EEDIHTTH
1]

m Answer(C) is correct.

HENEYY EREFNEADRE
DAETESIUVEESEA (citizen and resident alien)
FRESN (S E)RRAGIZEC‘EHARG ICHLBERTE - MHBBELLELS,
XEENEAETOOONTIMIZLETEEELS, NS RAEDREERL
O kBI)—2h—FOREE (green card test) *ﬁﬁﬂb@rﬂﬁigﬁ%;14§,ﬂﬁ;
©Q EBEMHIEEM (substantial presence test)
FEMNBEEZHICRLTIRENABALIL. — IS UTOEELS,
CREEEOXERERSRNERMIIBUL, BEMND,
-REEEQOXEHREBHN100%
+RIEEICB T2 KEHERRDIH D1
+RIREEICB T2 XEHAERHD6 D 1E2E5LI-BHEMN183B UL,
{BL. #95iE D E Y HTeacher, Trainee Fi=(FStudentlZZ LT HI5E. EENHE
EHUNARINCEESBEASNATOEALEN) EBENEALLS,
2)EEESEA (nonresident alien) m
TRERBRA/RICOVTOHBRERE-MBEBEINLELS,
EREESNEAE—EICForm1040NRZE A WTHR &Z 75, I8 B BIHEER (itemized
deductions) D # A% E D —EDHIR A H 5,
<BAUMES > ARICH TR RKERBERABIOHEX. BRTES T 5,
.".$68,500 x 132/165H =$54,800 2iRf: (C) ANEMRELD,




STUDY UNIT 2

GROSS INCOME
Eik

GLEIMTXAHIEE 5325 VAR
A20F (62.5%) B1175 (34.4%) C1[5 (3.1%)

2-1 Gross Income
(FoR18) XLUT2-2,2-3, 2-4 LIS DFEBH
2-2 Interest Income
(F|FF3) = Form 1040 Schedule B
2-3 Income from Securities
(B2 &3F#%) = Form 1040 Schedule B
2-4 Royalties and Rental Income
(ALY ILTAFG- T EEEEE) = Form 1040 Schedule E
2-5 Income in Respect of a Decedent
(BNIZEES HF1F)
X[SU13JMEfFiEHhHE T, Hp.170~171THEHRT 5,




2. Gross Income

(p.1/4)

KFHRBHBOR2IIVT>

BT EH(-H1EA4%L F58 (constructive receipt)

FERHIT D,

KRICFRITREFEZELTECTH, MBELGIRIGCRET S LA MREIRE
[CHNIE, RELIZEAGT EWSRTE, Bl BITOEEFIR (FIHLBIZRH)

<HR>THEFZEICENT, IRVO—REBEANEENLFTARSEZEN>TLDES
TH>TH, FEF(RERZNTETHIIREERITIMSEFTET)

SERRRMISE T RRICRT

BiZ A2 (prepaid income) D¥FH

S

HIZFFE. RHEBRITHIDYLK(RETRERAL TV SMBETH>TH).
FRAIELT. RERBEEOABLLTRBRAREG D, B HIZRRE

<« Gross Income vs. Deductions DR A >

e Allincome is included in Gl unless specifically excluded.
BIZBRN T HERESNTULVEWORY . TR TOMENGICEHONRFRMRELD,

o Expenses are only deductible if specifically provided in IRC.
FITIERTEDAERATSIN TS ER - BERDH . EIRFl, T LM IIERTE,

Point !

2. Gross Income

(p.2/4)

B EAER
®Wwages, salaries, tips, etc.
(#AE5mR)

SERBN D IFY) (property) Z#A(E
ZMEBIZHTHFDOFMV TR,
% Statutory employees (47 i%
HIZKYBAESNEEXE) (F.

Part 2:Businesses|Z T2k,

BEEY SRS IEE (JERRIER)

S ERRENFH S (foreign earned income) %
$101,300 (2016) & LREL TGIM DRV,

X E) 5513 (earned income) &lF. BE . AR
(FED) TR LI b =FTiFELD,

- WRBICIE RSN - IE 2 F DREFHIFZE (rental
value of parsonages / rental allowance)/%
IRBIFEFH

-JERFBDIEFIE £ ILPart 2: Businesses TfEEi,

®@)Interest income
(FIFFr#)

P45 - Hh 75 4& (municipal bond) DF| &, &')—XEE
HBERTEES (series EE Savings Bond) D F| &I
T

®@Dividend income

(GERIES))

¥Qualified dividends : EEFi 3
XL BRETS>
XE2—FaF/N TPl

- EARDILEL (return of capital) (XGIH SE&4Y .
- #%k35El (stock split) . #E=XERE 2 (stock dividend)
(TR BIFEERT

@Tax refund

BEEITERLBREBEZ O L TLVELNMEE DM DT

GEft#) BROEME - ERFEROEMEE. GINSERN,
®Alimony received EE & (child support) . BT E 5> 5 (property
(BESEEBNF ) settlement) (ZGIA SRS,




®Business income or loss

(BEXREDEXFRT)

2. Gross Income

(p.3/4)

(I

I

@Gain or loss on disposition of property
GEEF®)
XNLTCG: i X[SuslI=THEER

KIERBDEERSIIZ DL TIE, [SU10]IZ
THERT Do

®)IRA distributions
(IRAMGDFIEHL)

KIRAD M. [SUNM)ICTRRERT %,

@Pensions and annuities

(FEEIA)

FRZEEEDIE., WHEEDILREL (return
of capital) [IZHH &9 HEB A L GIN SRR,

(ORental real estate, royalties,
partnerships, S corp, trusts, etc.
(FEBEEEMSE. A1 VILT(FE.
IN—hF— 9 TED/IRAR IV —FTR)

@Farm income or loss

(REMBEOREMSD)

@Unemployment compensation
(REREBHR) KA SIFFLEFEL

¥ H KAHEHRS £ (worker’s compensation)
(IR BIFEERBL

Point !

2. Gross Income
RFBEAEE

(p.4/4)
EAE T 5 TR EMRsMEE

@Social security benefit

(HERIEFEE)

(JERFHIER)
#M%5:E D Provisional incomeN£4E(IZELT
B RELTDEENELEIN, REFFSE
DIGEIELEIEREFHLELD,

@Other income (J#FT18)

*Prizes and awards (E %)

-Gambling winnings (F+> 7 JLIXA)
-Cancellation of debt ({EFFHEREE)
*Income in respect of a decedent
(BN IZBEL=FTS)

-Jury duty pay (b5 5 $REN)

HK—TEDEHZH-L-ESIFIEERRH,
X TR AT IR B RN REL B,
B Z (bankruptcy ) &/Zk 335 5 11 FERH

ZOthD L HEFFERNEE ERRIER)

RIS FEDOFMBMEDHDEFE(

scholarship and fellowship) (&R 8 3E:E

SEEEREEL TR EL-AE MR £ (life insurance proceed) (X /R BI3EERFi,

BRMIEEIH T HEERES (pers

onal physical injury damage) (&R BI3EE T,

—h . BEMNEZEIES (punitive damage) [FEFR M RELDIDTEELELS,
- RSB DHIEIL, BEATEDAETHY, RAIFHHNRELGS.,

1AL, BE#IHZ (personal physica

Linjury) (ZB5:E 53 BT feta (a4 FESFH

HEE RIS RSB EDZMEIL. GINbRRI SN D,




m 2-1. Gross Income |

In return for $5,000, Simon canceled Mike’s debt of $15,000. The cancelation
was not a gift but is part of Mike’s bankruptcy. Which of the following
statements is true?

A. Simon has $5,000 of taxable income.

B. Mike has $10,000 of taxable income.

C. Mike has $15,000 of taxable income.

D. Neither Simon nor Mike has any taxable income from this transaction.

m Answer(D) is correct.

HBErEYY EHFRRE

<RAEEER >

BEBRREZTIGE. TOEBRRETRBELTERMRELS,

{BL. FEDKLILIFE L, FISAHIISIEES.

EERREES (gift) ELTRSBS,

BRI EEE (bankruptey) IZ&2B 4,

(EFEEHIMEFSEA (insolvent) DIRED B S,

SEIR B EEEE (farmer) DEFERBRDBS,

B ADEF-B1EF (principal residence) DERFERREO— DEHRBRDOBE,
2016 EIZHLTIL, BEREE2005K/L (MFS: 1005 K /L) A IEREFKRD LR ELED,

SERTRENEEZE (real property business) [CEITAEHEDRBEDE S,

-—EDFEEDO— (student loan) AA—E LB DR EDREBIZFLZ&LIZLY
REINDEE,

KEIZH T HEHEARERIELS15,000—$5,000=$10,000THSH A
WEICKHEBRIREL DO, 2ERIERRELD,
COERER (D) N IERR LS,




m 2-1. Gross Income |

When Joe’s financial institution offered a substantial discount of $5,000 for
early payment of his home mortgage, he borrowed from a family member to
take advantage of this offer. How should Joe treat this discount transaction?
no actions or reporting required.

Report $5,000 on line 21, Other Income, on Form 1040.

Reduce his home mortgage interest deduction by $5,000.

Report $5,000 original issue discount as interest income.

oow>

m Answer(B) is correct.

HENE Y EHERERE

<KLV MREE>

EEHEA0—0BHRFICHENEY DIRFEDE|F| (discount for early
payment of a mortgage loan) #%(}f-154& . BI5| B IXEHRRELL TR,
i [XForm 1040002147 B : Other income (G#FF18) ICTHE T 5,
CORIREE (B) NERREA B,




m 2-1. Gross Income |

Gordon, age 70, is retired and works part-time as a security guard earning
$8,000. He received $5,000 interest from a savings account and $2,500
interest from tax-exempt municipal bonds. His Social Security benefits were
$12,000 and his taxable pension was $6,000. To determine if any of his
Social Security is taxable, Gordon should compare how much of his income
to the $25,000 base amount?

A. $27,500
B. $21,500
C. $19,000
D. $25,000

m Answer(A) is correct.

HBrEYY S RER T

<MRA M ERER >

& EEFE (Social Security benefits) [XRBIEEB iR ELZH, #FED
Provisional incomelZIG L TR R ELDEIGHNELD,

Provisional income
AGI X1t S REHR A SZRTIERBFIR +H S RER A ED50%
*. Provisional income
=AGI($8,000+5,000+6,000) +$2,500+%$12,000 x 50%
=$27,500 ERfEK(A)DEMRELD,

Provisional income S RERAEDERMEIS
EfEMSE | HmEE $25,000LLF | 2FEFH
MFJ $32,000LL T

hEfEE | BmeE | $25,000~$34,000 | R A, #A{T2ED50%
MEJ | $32,000~$44,000 | XHBIL 2B KISU2]RI3E SR,

EFeE | MmeE | $340008 | FE &6EN085%
MEJ Sas,0008 | NRBIL2PIRBKISU2MIESE,

i}




m 2-1. Gross Income |

On February 10 of the current year, Rose was in an automobile accident
while she was going to work. The doctor advised her to stay home for 6
months because of her injuries. On February 25 of the current year, she filed
a lawsuit. On July 20 of the current year, Rose retuned to work. On
December 15 of the current year, the lawsuit was settled and Rose received
the following amounts:

Compensation for lost wages $25,000
Personal injury damages awarded
(none of which was for punitive damages) 40,000

How much of the settlement must Rose include in ordinary income on her
current-year tax return?

A. $0

B. $25,000
C. $40,000
D. $65,000

m Answer(A) is correct.

HENEYY  BENEEORES

<RAEEER >

- BIARSE I3 T HIBEEEIE S (personal physical injury damage) (& BIFEZE B,
— 4. BEIMEEFES (punitive damage) B RELDIDTEELLS,

REIESFHABOHET. BEFRBORETHY. RAIREHRXNRELD,
{BL. B{kE9{5E (personal physical injury) IZEBE T A5+ E (X BRI IR
HFLDEHEND,

S ERRIRRBED T, IR (A) (SOM IEfREET D,




m 2-1. Gross Income |

At their annual budget meeting, the Downtown Church voted to set the salary
package their pastor as follows:

Basic salary $30,000
Housing allowance (at fair rental value) $10,000
Maximum reimbursement for travel

(reports must be filed with receipts attached) $ 5,000

How much of the salary package is includible in the pastor’s taxable income?
$30,000
$35,000
$40,000
$45,000

ocow>»

m Answer(A) is correct.

HEBERE YD  HE O KER
<KLV MREE>
LOWERIZRETRESN-BEEDEEIHIE (rental value of parsonages)
BEU HERICZREIN-EHICLBERFEF Y (rental allowance) [LEBIFEEF:,
KERICLHERF AR, ERICEBHELTEXHL-£8% LRELTIERR.

FRHEEENMTONSGEE. ERENCORBEFOILRELIEGINSEKRIENS,

S EAHE$30,000DH AERFEA R BREL (A) AIERRLEL D,




m 2-1. Gross Income |

Generally, which of the following should be included in gross income?

Life insurance proceeds.

Child support payments.

Cash rebate from a dealer when a car is purchased.
Reimbursements from your employer of a moving expenses you
property deducted on last year’s tax return.

ocow>»

m Answer(D) is correct.

HENEYY BREBATNRRET IR Fryia-1\vY)
<KLV MREE>

IR (A) - £ fRIE £ (life insurance proceeds)IE 5 BIFEZRFi,
BEIRAL (B) : F A & (child support) D248 (3R BIFEEH,

BRERC) EROBAENIIRED —BZHASLRELLTRELEZYA—MF
rolan\wY) & BEAESIETHY. FiFEFEnRELY

BEIREE (D) BEEICERLEZEIBERICOVT, AEEICERENSIRLERT
58 VIR RITYR =LY HEEDGIIEDRT NS (R
BARELD), B4R (D) NIERRELD,

KAV R AR Tob- L—)LElF, TBEEICERELYREZROLIZBEEN
EELRRICIE. TOEREL-ZEZ. GIIEHLETNIEESEN I ET HIL—IL,
GUZE®HHEET. MELIZRIBEE B FEICHEDRED (tax benefit) 1 1=5L 1=
HHEAICRESND,




m 2-2. Interest Income |

All of the following are taxable interest income except
A. Interest on a federal tax refund.
B. Interest on an IRA before its withdrawal.
C. Interest on Gl insurance dividends.
D. Interest on U.S. Treasury bills.

m Answer(B) is correct.

HENE Y  FIFFE
<RAUMEH>

BRI (A) EABREITASNAF R (BRTORIFEMMES) FRIFRFELT
EBRELD,

ZHAE Vi A
E & (federal bond) D F| 2 B
M {& (state bond) ISR

#7548 (municipal bond) D I &
HE 3158 (federal income tax) MBEFEIZHFHLFIR | B
I 15 % (state income tax) D Z T IZfFH<FI B B3

JRIREE (B) - BB AE S O FE (traditional IRA) O FI BRI, BERICEIZHTET
EfHShL, SSBIRBE(B) AEMEELS, XIRAD ML, [SUM]ICTHEERT S,
BIREE (C) (D) :BMAREL DG L, ETHIZRASNGVEY, TXRTOREN
EFEN5, Glinsurancel(d, KEEANGEBREAZSD)MITORKRTHS,




m 2-3. Income from Securities |

In the current year, Sam received the following corporate distributions:

® 31,500 dividend on stock held in a public corporation that offers a dividend
reinvestment plan that lets him choose to use the dividend to buy (through
an agent) more stock in the corporation at a price equal to its fair market
value instead of receiving the dividends in cash. Sam chose to take part in
the plan.

® $2 500 dividend on stock held in a public corporation that offers a dividend
reinvestment plan that lets him choose to use the dividend to buy (through
an agent) more stock in the corporation at a price less than its fair market
value. The fair market value of shares Sam purchased through the plan on
the dividend payment date in the current year was $3,000.

® $2,000 return of capital distribution reported on Form 1099-DIV.

Based on the above information, how much ordinary dividend income must
Sam report on his current-year return?

A. $4,000
B. $4,500
C
D

. $6,000
. $6,500

m Answer(B) is correct.

HEENEYY RASEIREHE

m X2 FRE#E (dividend reinvestment plan ;DRIP)

ELEEREHE LT MENBELLLTEHREZETIRDYIZZOERLE

SHBEX~NDEMEEICEBMICKELUTIHETHD. BFENHLISHOMKE

T, BE. REMBERBT 0. BRETINERIRTHIENTES,

<HBENELLBFREHELFALISESOHRE L OIREL >

o HXEMADEHT (FMV) TIIGLI-IHE . (ERICIFE BEZELELA,)
FEREELRILEELTELMBELTGI [TEDHD,

o H#NEHRADEE (FMV) LYULRIMEETIRIBLI-GEEIZIE, MGLE=#RED
EZAICKE TR MZEESMBIELTGIIED S,

P
.. $1,500+$3,000=%$4,500 BR4FRiS ..aRiIREE(B) WNIEMRELS,

| EEEA | | EEEA
ﬁﬁmgl ' mgﬁI 1 =t
$2,500 v BiRE $3,000
L owx [ [ mx




m 2-3. Income from Securities 2%

Joe has owned shares in a company that has a dividend reinvestment plan
since 2004. The plan allows him to invest more cash to buy additional shares
of stock at a price less than fair market value. In the current year, Joe took
advantage of that option and purchased 100 additional shares for $30 each.
On the dividend payment date, the fair market value of the shares he
purchased was $32 per share. Based on this information, Joe must report

A. $0. No income must be reported until the shares are sold.

B. $200 as ordinary income, based on the difference between the
amount Joe paid and the fair market value of the shares.

C. $200 of short-term capital gain income, based on the fact that Joe
could not have taken advantage of the option to buy the shares at the
discounted price if he had not taken part in the dividend reinvestment
plan.

D. $200 of long-term capital gain income, based on the fact that Joe has
owned shares in the company for more than 12 months.

m Answer(B) is correct.

HEFEYY RUEEREHE

<R MRS >

BALOBEREICENLT, S5ICBEHOESTHAZZTORME (FMV) KYEHEL
IETRALTWLSIGE . BAMELTORMEOIZ I FERERELES,

. ($32—$30) x 100 #%=$200 &t L F7#5 (ordinary income)

IR (B) AN EfRLET D,




m 2-3. Income from Securities |

Ms. X, a cash-method taxpayer, received notice from her mutual fund that it
has realized a long-term capital gain on her behalf in the amount of $2,500. It
also advised her that it has paid a tax of $500 on this gain. The mutual fund
indicated that it will not distribute the net amount but will credit the amount to
her account. All of the following statements are true except

X must report a long-term capital gain of $2,500.

X is allowed a $500 credit for the tax since it is considered paid by X.
X is allowed to increase her basis in the stock by $2,000.

X does not report a long-term capital gain because nothing was paid
to her.

COow>

m Answer(D) is correct.

HENE YD : Sa—FaF I T7UR
N  s2—527/4-572F (mutual fund - REEFZRA)
Sa—FaTFI-T7URMLDRERIE. ZOFRFOELEICE>T, FYEAIL 1oL
LD RELERICHITONDS,

D F¥E#4JL-5 1> (mutual fund capital gain)

S2—FaTFIL TR REBENDFYERIL-FALUIE. EBRORERFHMIC
MhvbHYid BIZIBESFvESIL- 542 (LTCG) 1L THDHON D,
Sa—FaTFITPURDREXYERI T AU EMEEICHAAATHIRETHIEN
HHN BERIIEBICHRESHELTLELTE, RHFvESIL -1 ELTGI
ICEHTERERITEHLITHE-0. (REODEEICEERERIhTLESSE
MIENESIZ) T7U RS DbasisEEMEE THL Sa—Fa7I-T7URIZ&KY
B R U A O E IR BEE (Form 2439) (X FizER L TIER T 5,

@& % (mutual fund dividend)
BREEANRETIHPESLENBON-FER -BBLALEDEEREIL. IRE
RICELYELTHEESND BERNZIA—Fa7IL-T7U RS2 ET B (L
EEYFTFIEL TR RELGS BEL. ZTDIT7URDREL T ABHEDIE
ERESDEAEHSITONTIX, EERFLAZHLNTINS,

CSOERIRER (A) (B) (C) IXIELLY, 3EREE (D) AY38Y,




m 2-4. Royalties and Rental Income |

Mr. Cypress owned a small three-unit apartment building in Detroit, Michigan.
The rent on each apartment was $1,000 per month. During 20X1, he received
the following payments:

Apt. A - Timely rent payments for 12 months

Apt. B - The apartment was vacant in January and February. On 3/1/X1, a new
tenant entered into a 1 year lease from 3/1/X1 through 2/28/X2. The tenant paid
first and last month’s rent and a security deposit of $1,500. The security deposit
is to be returned at the end of the lease if the tenant lives up to the terms of the
lease. The tenant timely paid the rent for the next 9 months (April through
December) on the first of each month.

Apt. C - In December, after timely paying the rent for 12 months of the year, the
tenant came to Mr. Cypress and told him that he had been transferred to a new
job location in Tennessee. He asked to be released from his 2-year lease
obligation, which was scheduled to expire on June 30, 20X2. Mr. Cypress agreed
to accept 3 months’ rent to cancel the lease. The tenant paid Mr. Cypress $3,000
to cancel the lease in December.

Assuming Mr. Cypress is a cash-basis taxpayer, what amount should Mr. Cypress
include in his 20X1 gross income from the apartment building?

A. $35,000

B. $35,500

C. $38,000

D. $39,500 I_I_

m Answer(C) is correct.

HENE Y FBEREMSE
<R MR >

Apt.A:

F%8$1,000 x 12 B =$12,000

Apt.B:

$1,000 (AP DEIZERE) +$1,000x 51078 BA~12A % X1 A2AXLEE)

=$11,000

KUZFREE. KHERITHIDYLK(OFY, BREFTEEZEAL TS MEE
THOTH) . RAELT. REZBEEEDOMFLLTERMRELD,

YEENZE D B A FEEE (refundable security deposit) $1,5000%.
ZHREEDEBINAICEEHLNEL,

Apt.C:

$1,000 x 124 B +$1,000 x 3~ A (###y#&LT3» A 4) =$15,000

. A$12,000+B$11,000+C$15,000=$38,000 =EiRf% (C) NIEfELAD,

<HHR>

XREARDYEHNERZXDOLTHERANEERBEICHRE (I BREEITES.
FRAIZOEMAEERAIZSHLNS,

AR —ERPEEADVNHERDOABHIL. FHEEEFREBTIEEL
(ZEHIEE (passive activity) TIEEL=8) . FERBELD,




